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1. A draws Rs. 1000 per month on the last day of every month. If the 
rate of interest is 5% pa. then the total interest on drawings will be 
(a) Rs. 325 (b) Rs. 275 (b) Rs. 300 (d) Rs. 350 

2. A and B are partners A’s capital is Rs. 10,000 and B’s Capital is Rs. 
6,000. Interest is payable @ 6% p.a... B is entitled to a salary of Rs. 
300 per month. Profit to the year before interest and salary to B is Rs. 
8,000. Profits between A and B will be divided: 
(a) Rs. 1,720 to A &Rs. 1,720 to B (b) Rs: 2000 to A & Rs. 1440 to B 
(c) Rs. 1440 to A & Rs. 2000 to B (d) None 

3. Ram and Mohan, are partner’s. They draw for private use its. 6,000 
and Rs. 4,000 respectively. Interest is chargeable @ 6 percent per 
annum on drawings. What is the interest? 
(a) Ram Rs.180 & MohanRs. 120 (b) Ram Rs. 360 & Mohan Rs. 240 
(c) Ram Rs. 30 & Mohan Rs. 20 (d) None 

4. Interest on Drawings is 
(a) Debited to P/L A/C (b) Credited to P/L A/C 
(c) Debited to Capital A/C (d) None 

5. A firm earned net profits during last 3 years as follows - 
2001 Rs. 15,000          2002 Rs. 20,000       2003 Rs. 25,000 
The capital investment in the firm is Rs.1,00,000. Having regard to risk 
involved 15% is the fair return on capital employed. Goodwill on basis 
of 2 years purchase of average Super profits earned during 3 years is: 
(a) Rs. 8,000 (b) Rs. 10,000 (c) Rs. 12,000 (d) Rs. 15,000 

6. The profits of last four years are: 
2000 Rs. 40,000 2001 Rs. 50,000 
2002 Rs. 60,000 2003 Rs. 50,000 
The value of goodwill on the basis of three years purchase of average 
profits based on last four years : 
(a) Rs.1,00,000   (b) Rs.1,50,000 (c) Rs.2,11,000  (d) None 

7. Goodwill is to be calculated at one and half years purchase of average 
profit of last 5 years. The firm earned profits during first 3 years as Rs. 
20,000, Rs. 18,000 and Rs. 9,000 and suffered losses of Rs. 2,000 and 
5,000 in last 2 years. Goodwill amount will be: 
(a) Rs. 12,000    (b) Rs. 10,000 (c) Rs   5,000 (d) None 

8. Average capital employed Rs. 5,00,000, Normal rate of return 10% , 
Goodwill at 5 years purchase of super profit is Rs. 98,000, Calculate 
the average profit 
(a) Rs. 69,600     (b) Rs. 1,48,000 (c) Rs. 4,40,000       (d) Rs. 48000, 

9. Reserve appearing in the Balance sheet will be divided among 
partbers during admission in_____ Ratio: 
(a) Old (b) New    (c) Sacrificing (d) Gaining  

10. A and B are partners C is admitted with 1/5th share C brings Rs. 1,20,000 
as his share towards capital. The total networth of the firm is: 

(a) Rs.1,00,000  (b) Rs.4,00,000 (c) Rs.1,20,000 (d) Rs.6,00,000 

1. izR;sd eghusa ds vUr esa v 1000 :- dk vkgj.k djrk gSA ;fn C;kt dh 

nj 5 izfr’kr okf"kZd gS rks vkgj.k ij dqy C;kt dh jkf’k gksxhA 

¼v½ 325:- ¼c½ 275:- ¼l½  300:- ¼n½ 350:- 

2. v vkSj c lk>snkj gS v dh iwath 10000 vkSj c dh iwath 6000 :- gSA iwWath 

ij ds C;kt 6 izfr’kr izfro"kZ dh nj ls pqdk;k tkrk gSA c 300 izfrekg 

osru ikusa dk vf/kdkjh gS] C;kt o c dks osru ls igys o"kZ ds fy;s ykHk 

8000 :- gSA v vkSj c ds chp ykHk ckWVk tk;sxkA 

¼v½v dks 1720:- vkSj 1720:- c dks   ¼c½v dks 2000:- o c dks 1440:- 

¼l½ 1440 :- v vkSj 2000:- c dks     ¼n½ dksbZ ugh 

3. jke vkSj eksgu lk>snkj gS os vkgj.k ds fy;s Øe’k 6000:- vkSj 4000:- 

fudkyrsa gSA C;kt vkgj.k ij 6 izfr’kr dh nj ls olwy fd;k tkrk gS 

C;kt D;k gSA 

¼v½ jke 180:- vkSj eksgu 120:- ¼c½ jke 360:- vkSj eksgu 240:- 

¼l½ jke 30:- vkSj eksgu 20:- ¼n½ dksbZ ugh 

4. vkgj.k ij C;kt dks-------------------------------------------fd;k tkrk gSA 

¼v½ ykHk gkfu [kkrs esa M+sfcV ¼c½ ykHk o gkfu [kkrs esa ØsfMV 

¼l½ iwath [kkrs esa M+sfcV  ¼n½ dksbZ ugah 

5. ,d QeZ vafre rhu lkyksa esa fuEu 'kq) ykHk dekrh gSA 

2001 & 15000:-      2002 & 20000:-       2003 & 25000:- 

QeZ esa fuosf’kr iw¡th 100000 :- gSA fuosf’kr iwath ij dekbZ dh nj 15 

izfr’kr gSA 3 lkyksa ds nkSjku dek;sa x;sa vkSlr lqij ykHk ds 2 lky ds 

Ø; ds vk/kkj ij [;kfr dh jkf’k gksxhA 

¼v½ 8000:- ¼c½ 10000:- ¼l½  12000:- ¼n½ 15000:- 

6. fiNysa 4 lkyksa ds ykHk gSA 

2000 & 40000:- 2001 & 50000:- 

2002 & 60000:- 2003 & 50000:- 

fiNysa 4 lkyksa ds vkSlr ykHkksa ds 3 lky ds Ø; ds vk/kkj ij [;kfr dh 

jkf’k gksxhA 

¼v½ 100000:- ¼c½ 150000:- ¼l½  200000:- ¼n½ dksbZ ugh 

7. fiNysa 5 lkyksa ds vkSlr ykHk ds 1 1@2 lky ds Ø; ds vk/kkj ij [;kfr 

dh x.kuk dh tkrh gSA fiNysa 3 lkyksa esa QeZ ykHk 20000:-] 18000:- 

vksj 9000:- dekrh gSA vkSj vafre 2 lkykasa esa gkfu 2000 :- vkSj 5000 :- 

mBkrh gSA [;kfr dh jkf’k gksxhA 

¼v½ 12000:- ¼c½ 10000:- ¼l½ 15000:- ¼n½ dksbZ ugh 

8. vkSlr fofu;ksftr iw¡th 5]00]000 lkekU; izR;k; nj 10 izfr'krA vf/kykHkksa 

ds 5 o"kkZsa ds vk/kkj ij [;kfr 98]000 :- gSA vkSlr ykHk dh x.kuk 

dhft,% 

¼v½ 69]600 ¼c½ 1]48]000 ¼l½ 4]40]000 ¼n½ 48]000 

9. fpV~Bs esa fn[kk;k x;k lap;] u;s lk>snkj ds izossss ssss'k ds le;] iqjkusa lk>snkjksa 

esa foHkkftr fd;k tkrk gS ------------vuqikr esa \ 

¼v½ iqjkusa ¼c½ u;s ¼l½ R;kx ¼n½ YkkHk 

10. v vkSj c lk>snkj gS mUgksusa lh dks 1@5 Hkkx ds fy;s dks izos'k fn;k lh 

120000 :- iwath ds ykrk gSA QeZ dh dqy iwath gksxh \ 

¼v½ Rs.1,00,000  ¼c½ Rs.4,00,000     ¼l½ Rs.1,20,000  ¼n½ Rs.6,00,000 
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11. A & B are Partners with capital of Rs. 32000 and 24000. They 
admit C for ¼ share in the firm. He bring Rs. 30,000 for capital. 
Amount of firm’s goodwill is :- 
(a) 120000 (b) 34000 (c) 51000 (d) 86000 

12. Total Assets  = 2500000 
Outside liability = 1500000 
Actual Average Profit  = 1,20,000 
Normal Rate of Return = 10 %  
Goodwill as per Capitalization Method : -  
(a) 2,00,000 (b) 10,00,000 (c) 3,00,000 (d) 5,00,0000 

13. If value of asset and liability are not altered at admission of a new 
partner. Necessary account in this regard is. 
(a) Revaluation a/c                   (b) Realisation a/c 
(c) P&L appropriation a/c        (d) Memorandum Revaluation a/c 

14. X, Y, Z Share profit in ratio of 5 : 3 : 2, Z retire from firm and his share 
is takenover by X and Y in ratio of 3 : 1, New ratio of X’ Y will  
(a) 5 : 3 (b) 3 : 1 (c) 13 : 7              (d) 7 : 13 

15. A, B, C  are partner sharing profit equally , Rs. 40,000 is payable to C 
on his retirement. For his outstanding payment he was given a motor 
car with  fair market value of Rs. 12000, which was not shown in the 
book of firm and balance was paid in cash. Necessary entry will be : - 
(a) C’s capital a/c  Dr. 44000 
 To Bank   32000 
 To Vechile   12000 
(b) C’s capital a/c  Dr. 40000 
 To Bank   28000 
 To Vehicle   12000 
(c) C’s capital a/c  Dr. 4000 
 To Bank   4000 
(d) C’s capital a/c  Dr. 44000 
  To Vechile   44000 

16. Equity shareholders have a right to: 
(a) Vote   (b) 20% dividend 
(c) Have preference on redemption (d) All  

17. 500 shares of Rs. 20 each issued at 5% discount are forfeited for non 
payment of allotment and final call money Rs. 9 and Rs. 5 
respectively. Amount credited to Share forfeiture A/c is: 
(a) Rs. 2,000  (b) Rs. 2,500  
(c) Rs. 3,000   (d) Rs. 7,000 

18. E Ltd. has allotted 10,000 shares to the applicants of 14,000 shares on 
pro-rata basis. The amount payable on application is Rs. 2. F applied 
for 420 shares. The number of shares allotted and the amount carried 
forward for adjustment against allotment due from F: 
(a) 60 shares; Rs.  120 (b) 340 shares; Rs.160 
(c) 320 shares; Rs.200 (d) 300 shares; Rs.240 

19. G Ltd. acquired assets worth Rs. 75,000 from H Ltd. by issue of share 
of Rs. 10 at a premium of Rs. 5. The number of shares to be issued by 
o Ltd. to settle the purchase consideration: 
(a) 6,000 shares (b) 7,500 shares   
(c) 9,375 shares  (d) 5,000 shares 

20. A company forfeited 100 equity shares of Rs. 100 each issued at 
Premium of 50% (to be paid at time of allotment) on which the first 
call money of Rs. 30 per share was not received, final call Of Rs. 20 is 
yet to be made. These shares were subsequently reissued @ Rs.70per 
share at Rs. 80 paid up. The amount credited to capital reserve is: 
(a) 4,000 (b) 2,000 (c) 3,000 (d) None 

21. Asha Ltd. issued shares of Rs. 100 each at a premium of 25%. Mamta who 
has Rs. 2,000 shares of Asha Ltd., failed to pay first and final call totaling 
Rs. 50. Premium was taken at the time of allotment by the company. On 
forfeiture of Mamta’s shares, the amount to be debited to share Premium 
account will be: 

(a) Rs. 5000  (b) Rs. 10,000  
(c) Rs. 15,000  (d) Nil 

11. v o c nks lk>snkj gS] ftudh iwath Øe’k% 32000 o 24000 gSA mUgksaus l 

dks ¼fgLls ds fy, lk>snkj cuk;kA l 30]000 iwath ds yk;kA QeZ dh dqy 

[;kfr gS % 

¼v½ 120000 ¼c½ 34000 ¼l½ 51000 ¼n½ 86000 
12. dqy laifÙk;ksa     = 25]00]000 

ckâ; nkf;Ro     = 1500000 
okLrfod vkSlr ykHk   = 1]20]000 
lkekU; izR;k; nj   = 10 izfr’kr 
iwathdj.k fof/k ls [;kfr dk ewY; gksxkA 

¼v½ 2,00,000  ¼c½ 10,00,000 ¼l½ 3,00,000 ¼n½ 5,00,0000 
13. ;fn u;s lk>snkj ds vkxeu ij laifÙk;ksa o nkf;Roksa dk ewY; uk cnyk 

tk;s] rks bl laca/k esa dkSulk [kkrk cusxkA 

¼v½ iquZewY;kadu [kkrk   ¼c½ olwyh [kkrk 

¼l½ ykHk & gkfu lek;kstu [kkrk   ¼n½ Lekj.kkFkZ iquZewY;kadu [kkrk 

14. ,Dl] okbZ o tsM ykHkksa dks 5 % 3 % 2 esa ckaVrs gq;s lk>snkj gSA tsM QeZ 

ls fuoÙ̀k gksrk gS o mldk fgLlk ,Dl o okbZ }kjk 3 % 1 ds vuqikr esa 

fy;k tkrk gSA u;k ykHk foHkktu vuqikr gksxkA 

¼v½ 5 : 3 ¼c½ 3 : 1 ¼l½ 13 : 7              ¼n½ 7 : 13 
15. v] c l ykHkksa dks cjkcj ckaVrs gq;s lk>snkj gSA l fuoÙ̀k gksrk gS] o 

fuof̀Ùk ij mls 40]000 :- ns; gSA bl gsrq mls ,d eksVjdkj ftldk 

ewY; 12000] gS nh tkrh gS o 'ks"k udn fn;k tkrk gSA l dks nh xbZ 

eksVj dkj QeZ dh iqLrdksa esa iznf’kZr ugha gSA vko’;d tuZy izfof"V gksxh  

¼v½ C’s capital a/c  Dr. 44000 
 To Bank   32000 
 To Vechile   12000 
¼c½ C’s capital a/c  Dr. 40000 
 To Bank   28000 
 To Vehicle   12000 
¼l½ C’s capital a/c  Dr. 4000 
 To Bank   4000 
¼n½ C’s capital a/c  Dr. 44000 
  To Vechile   44000 

16. lerk va'k/kkfj;ksa dks vf/kdkj gSA 

¼v½ ernku  ¼c½ 20 izfr'kr ykHkka'k 

¼l½ loZizFke 'kks/ku dk ¼n½ mi;ZqDr lHkh 

17. 20 :- okys 500 ’ks;j 5 izfr’kr NwV ij fuxZfer fd;sa x;s FksA vkcaVu 

jkf’k o vafre ekWx jkf’k Øe’k 9 :- o 5 : Øe’k dk Hkqxrku ugh djusa 

ij gj.k dk fy;sa x;saA va’k gj.k [kkrss esa tek dh tkusa okyh jkf’k gksxhA 

¼v½ 2000:- ¼c½ 2500:- ¼l½ 3000:- ¼n½ 7000:- 

18. E fyfeVsM 14000 ’ks;j vkosndksa dks 10000 ’ks;j ;Fkkuqikr vkcaVu djrh 

gSA vkosnu ij 2 :- pqdk;sa x;saA F us 420 ’ks;jksa ds fy;s vkosnu fd;k 

FkkA F dks vkcafVr v’kksa dh la[;k rFkk vkcaVu ds fy;sa le;ksftr jkf’k 

D;k gksxhA 

¼v½ 60’ks;j] 120:- ¼c½ 340’ks;j] 160:- 

¼l½ 320’ks;j] 200:- ¼n½ 300’ks;j] 240:- 

19. G fyfeVsM 75000 :- dh lEifÙk H fyfeVsM ls 10 :- okysa 'ks;j 5 :- 

izhfe;e ij fuxZeu dj Lohdkj djrh gSSA Ø; izfrQy ds fy;sa G 

fyfeVsM }kjk fuxZfer va’kksa dh la[;k gksxhA 

¼v½ 6000 va’k  ¼c½ 7500 va’k ¼l½ 9375 va’k ¼n½ 5000 va’k 

20. ,d dEiuh 100 :- okysa 100 ’ks;jksa dk tks 50 izfr’kr izhfe;e ¼ vkCkaVu 

ij pqdk;k tkuk Fkk½ ij fuxZfer fd;s x;s FksA  izFke ekWx jkf’k 30 :- 

izkIr ugh gksus ij gj.k dj ysrh gSA vafre ekWx jkf’k 20:- ekaxuk vHkh 

ckdh gSA ;s va’k 80 :- iznÙk ij 70 :- esa iquZfuxZfer dj fn;sa x;sA iwath 

lap; esa tek dh tkusa okyh jkf’k gksxhA 

¼v½ 4000:-   ¼c½ 2000:- ¼l½ 3000:- ¼n½ dksbZ ugh 

21. vk’kk fyfeVsM 100 :- okysa 'ks;jksa dk 25 izfr’kr izhfe;e ij fuxZeu 

djrh gSA eerk ftldsa ikl 2000 'ks;j Fks izFke rFkk vafre ekWx jkf’k 

dqy 50 :- ugh pqdk ikrhA izhfe;e dh jkf’k dEiuh }kjk vkcaVu ij ys 

yh x;hA eerk ds 'ks;jksa ds gj.k ds le; va’k izhfe;e [kkrk fdl jkf’k 

ls M+sfcV fd;k tk;sxkA 

¼v½ 5000:- ¼c½ 10000:- ¼l½ 15000:- ¼n½ Nil 
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22. Following are the information related to G Ltd. 
(i) Equity share capital paid up Rs. 2,85,000   
(ii) Calls in adv.  Rs. 10,000 (iii) Calls in arrear          Rs.    15,000 
(iv) Proposed dividend  20 % 
The amount of dividend payable: 
(a) Rs.57,000   (b) Rs.54,000 (c) Rs.56,000 (d) Rs.60,000 

23. A purchased a Machinery for Rs. 1,80,000 for which he is paying 
shares of Rs. 100 each at 10% discount. How many shares will he give 
as consideration? 
(a) 2,500 (b) 2,000 (c) 1,800 (d) 3,000 

24. F. Ltd. purchased machinery for a book value of Rs. 2,00,000. The 
consideration was paid by issue of 10% Debenture of Rs. 100 each @ 
discount of 20%. The debenture account will be credited by : 

(a) Rs.2,00,000  (b) Rs.2,50,000 (c) Rs.1,60,000 (d) Rs.2,40,000 
25. Right shares are issued to: 

(a) Promoters for the services (b) Holders of convertible debentures 
(c) Existing shareholders (d) All of the above. 

26. Z & Co. forfeited 100 shares of Rs. 10 each for no¼n½payment of final 
call of Rs. 2 per shares. All shares were re-issued at Rs. 9 per share. 
What amount will be transferred to Capital Reserve A/c? 
(a) Rs. 700 (b) Rs. 800 (c) Rs. 900 (d) Rs. 1000 

27. If vendor’s are issued 1,00,000 fully paid equity share of Rs. 10 each in 
consideration of net assets of Rs. 12,00,000. The balance of Rs. 
2,00,000 will be credited to :-   
(a) Capital Reserve A/c (b) Goodwill A/c 
(c) Vendor’s A/c (d) P/L  A/c 

28. While making an adjusting entry in respect of interest on capital, we 
credit 
(a) Capital account (b) Profit and loss, account  
(c) Interest on capital account (d) Drawing account. 

29. Alok Ltd. forfeited 300 shares of Rs. 10 each fully called up held by Ram 
for non payment of allotment money of Rs. 3 per share and final call 
money of Rs.4 per share. Out of these shares 250 were reissued to Sohan 
for a total payment of Rs. 2000. Amount transferred to capital reserve 
account will be:  

(a) Rs. 250  (b) Rs. 900    (c) Rs. 600  (d) None  
30. Sohan Ltd. forfeited 1000 shares of Rs. 10 each fully called up for non 

payment of final call of Rs. 4 per share. All of these shares were 
reissued as fully paid for Rs. 6 per share. Amount transferred to 
capital reserve will be: 
(a) Rs. 6,000 (b) Rs. 4,000   (c) Rs. 2,000    (d) NIL 

31. Narain Ltd. invited application for 50,000 shares of Rs. 100 each at a 
discount of 8%. Discount per share will be: 
(a) Rs. 8.00   (b) Rs. 0.08 paise (c) 0.80 paise    (d) Rs. 80.00 

32. A Ltd. issued 10,000 12% Debentures of Rs. 10 each at par which are 
redeemable at the end of each year in equal lots in 5 years at a premium 
of 30%. The amount of loss on redemption of debentures to be written 
off in fourth and fifth year will be: 
(a) Rs.10,000, Nil   (b) Rs.4000, 4000   (c) Rs.6000, 6000  (d) Rs.4,000, 2000 

33. Deep Ltd. issued 1,00,000 7% Debentures of Rs. 100 each at a 
discount of 4% redeemable after 5 years at a premium of 6%. Total 
Loss on issue of debentures is : 
(a) Rs.10,00,000  (b) Rs.6,00,000 (c) Rs.16,00,000   (d) Rs.4,00,000 

34. When debentures are issued as collateral security, interest is paid on : 
(a) Nominal value of debentures      (b) Face value of debentures 
(c) Discounted value of debentures (d) No interest is paid. 

35. Loss on issue of debenture is generally written off in  
(a) 5 years (b) 15 years (c) 10 years   
(d) Over the period of redemption 

36. Capital employed in a business is Rs. 1,50,000. Profits are Rs. 50,000 
and the normal rate of profit is 20%  The amount of goodwill as per 
Capitalisation Method would be 
(a) Rs.1,00,000  (b) Rs.1,50,000 (c) Rs.2,00,000  (d) Rs.3,00,000 

22. G fyfeVsM ls lEcaf/kr fuEufyf[kr lqpuk;sa miyC/k gSA 

1- iznÙk lerk va’k iwath & 285000:- 

2- vfxze ekWx jkf’k & 10000:- 

3- cdk;k ekWx jkf’k & 15000:- 

4- izLrkfor ykHkka’k & 20izfr’kr 

Pkqdk;sa tkusa okysa ykHkka’k dh jkf’k gksxhA 

¼v½ 57000:- ¼c½ 54000:- ¼l½  56000:- ¼n½ 60000:- 

23. ,d e'khu 1]80]000 :- esa Ø; dh xbZ] blds Hkqxrku ds cnys esa 100 :- 

izR;sd ds va'k 10 % cÍs ij fuxZfer fd;sA izfrQy ds :i esa fdrus va'k 

fn;s x;sA 

¼v½ 2,500 (¼c½ 2,000  ¼l½ 1,800 ¼n½ 3,000 
24. ,Q fy- us 10% _.ki= 100 #i;s okys 20% dh NwV ij fuxZEku djds 

200000 #. ds iqLrdh; ewY; dh ,d e’khujh [kjhnh rks bl n’kk esa _.ki= 

[kkrs esa ØsfMV dh tkus okyh jkf’k gksxhA 

¼v½ Rs. 2,00,000 ¼c½ Rs. 2,50,000 
¼l½ Rs. 1,60,000 ¼n½ Rs. 2,40,000 

25. vf/kdkj va'k fuxZfer fd;s tkrs gSaA 

¼v½ lsok ds cnys izorZd dksA ¼c½ ifjorZuh; ++++_.ki=ksa ds /kkjdksa dksA 

¼l½  orZeku va'k/kkjdksa dksA ¼n½ mi;qZDr lHkhA 

26. tsM+ dEiuh us 2 :- dh vafre ;kpuk u nsus ij 10 :- dh nj ds 100 va'kks 

dk gj.k dj fy;kA bu lHkh va'kks dk 9 :- ij iqu% fuxZeu dj fn;k x;kA 

i¡wth lap; [kkrs esa fdruh jkf'k vUrfjr dh tk,xh% 

¼v½ 700:- ¼c½ 800:- ¼l½ 900:- ¼n½ 1]000:- 

27. ;fn [kjhnnkj 12 yk[k :i;s dh 'kq) lEifÙk ds izfrQy esa 1 yk[k iw.kZiznr 

lerk va’k 10 :- okys fuxZfer djrk gS rks 'ks"k 2 yk[k :- dks ØsfMV fd;k 

tk,xkA 

¼v½ iwath lap; [kkrk ¼c½ [;kfr [kkrk 

¼l½  ekfyd [kkrk ¼n½ ykHk & gkfu [kkrk 

28. iwWth ij C;kt ds lek;kstu dh izfof"V djus ds le; ge dzsfMV djsxs  

¼v½ iWwth [kkrk   ¼c½ YkkHk o gkfu [kkrk  

¼l½ iwWth ij C;kt [kkrk ¼n½ vkgj.k [kkrk 

29. vkyksd fyfeVsM us jke ds 10 :- okys 300 iw.kZ ;kfpr va'kksa dk gj.k dj 

fy;k ftu ij mlus 3 :- vkcaVu ij rFkk 4 :- vafre ekax ij ugha pqdk;s 

FksA buesa ls 250 va'kksa dks 2000 :- ds dqy Hkqxrku ij lksgu dks fuxZfer dj 

fn;kA iwath lap; [kkrs esa jkf'k LFkkukarfjr dh tk;sxh %&  

¼v½ 250 :-  ¼c½ 900 :-  ¼l½  600 :- ¼n½ dksbZ ugha 

30. lksgu fyfeVsM 1000 va’k 10:- okysa iw.kZ ;kfpr vafre ekax jkf’k 4 :- izfr 

va’k dk Hkqxrku ugh gksus ij gj.k dj ysrh gSA ;g lHkh va’k 6 :- esa iw.kZ 

iznr ds :i esa iqu% fuxZfer dj fn;sa x;sA iwath lap; esa gLrakrfjr dh tkus 

okyh jkf’k gksxhA 

¼v½ 6000:- ¼c½ 4000:-  ¼l½ 2000:- ¼n½ wil 
31. ukjk;.k fyfeVsM 100:- okysa 50000 'ks;jksa dks 8 izfr’kr NwV ij vkosnu ds 

fy;s vkaef=r djrh gSSA izfr va’k NwV gksxhA 

¼v½ 8-00:- ¼c½ 0-80iSls  ¼l½ 0-80 iSls ¼n½ 80-00:- 

32. A fyfeVsM 10 :- okysa 10]000] 12 izfr’kr _.ki=ksa dk leewY; ij fuxZeu 

djrk gSA tks gj lky leku la[;k ess 5 lkyksa esa 30 izfr’kr izhfe;e ij 

'kks/kuh; gSA _.ki=ksa ds 'kks/ku ij gksus okyh gkfu dh pkSFks o ikapos lky esa 

vifyf[kr dh tkusa okyh jkf’k gksxhA 

¼v½ 10000:-Nil  ¼c½ 4000] 4000:-  ¼l½ 6000:- 6000:- ¼n½4000] 2000:- 

33. nhi fyfeVsM 1]00]000] 7 izfr’kr _.ki= 100 :- okyas 4 izfr’kr NwV ij 

fuxZeu djrh gSA tks 5 lky ckn 6 izfr’kr izhfe;e ij 'kks/kuh; gSA _.ki=ksa 

ds fuxZeu ij dqy gkfu gksxhA 

¼v½ 1000000:-  ¼c½ 600000:- ¼l½ 1600000:- ¼n½ 400000:- 

34. tc _.ki= lkeikf’Zod izfrHkwfr ds :ik esa fuxZfer dh tkrh gSA rks C;kt 

pqdk;k tkrk gSA 

¼v½ _.ki=ksa dk lk/kkj.k ewY; ¼c½ _.ki=ksa dk vafdr ewY; 

¼l½ _.ki=ksa dk NwV ewY; ¼n½ C;kt ugh fn;k tk;sxkA 

35. _.ki=ksa ds fuxZeu ij gkfu dks lkekU;r;k% vifyf[kr fd;k tkrk gSA  

¼v½ 5 o"kZ  ¼c½ 15 o"kZ ¼l½ 10 o"kZ ¼n½'kks/ku dh vof/k rdA 

36. O;kikj esa fofu;kfstr iwWth gS 1]50]000 : ykHk gS 50]000 :( ,oa ykHk dh 

lk/kkj.k nj 20 izfr’kr gS A iwWthdj.k fof/k ds vuqlkj [;kfr dh jkf’k gksxh  

¼v½ 1]00]000 :  ¼c½ 1]50]000 :   

¼l½ 2]00]000 :  ¼n½ 3]00]000 : 
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37. Which of the following assets is not a quick current asset for the 
purpose of calculating acid test ratio? 
(a) Short term bills receivables (b) Cash (c) Stock  
(d) Debtors less provision for bad and doubtful debts 

38. Which of the following liabilities are taken into account for acid test ratio? 

(1) Trade creditors (2) Bank overdraft 
(3) Bills payable (4) Redeemable debentures. 
(a) 1,2,3,and 4       (b) 1and 3  (c) 1,2,3 and 4 (d) 1,3,and 4 

39. Match the following: 
(1) Test of Liquidity A. ROI 
(2) Test of Profitability B. Debtors turnover 
(3) Test of Solvency C. Acid test ratio 
(4) Test of Activity D. Debt equity ratio 
      (1) (2) (3) (4) 
(a) (A) (D) (B) (D) 
(b) (D) (A) (C) (B) 
(c) (B) (C) (A) (D) 
(d) (C) (A) (D) (B) 

40. Partners liability in a partnership firm is. 
(a) In capital Ratio (b) Limited liability of all 
(c) unlimited liability of all (d) In Profit Sharing ratio 

41. Which group of ratios measure a firm’s ability to meet short-term 
obligations? 
(a) Liquidity (b) Debt  (c) Coverage (d) Profitability  

42. A Ltd. Financial statement shows the following data: Opening stock 
Rs. 1,75,000, Total purchase Rs. 10,75,000 including cash purchase Rs. 
1,75,000, total sales  Rs. 15,00,000 out of which 20% are on cash 
basis. Closing stock is Rs. 1,50,000. Stock turnover ratio = ? 
(a) 7.67 (b) 6.77  (c) 7.76 (d) 7.66 

43. A Ltd financial statement shows the following data: 
Equity Rs. 5,67,500, Reserve & surplus Rs. 3,87,850, total debt Rs. 
5,88,778 out which Rs. 2,88,778 are long term debt, fixed assets are 
Rs. 11,44,128. Current Ratio = ? 
(a) 2.48 (b) 1.92 (c) 3.68   (d) 1.33 

44. Current assets of Z Ltd. are Rs. 3,70,000 which includes stock Rs. 
1,00,000 and prepaid expense Rs. 70,000. Its current liability are Rs. 
1,60,000 which includes provision for tax Rs. 60,000. Liquid Ratio = ? 
(a) 1.25 (b) 1.52 (c) 1.22   (d) 0.95 

45. KT Ltd. opening stock was Rs. 2,50,000 and closing stock was Rs. 
3,75,000. Sales during the year was Rs. 13,00,000 and gross profit 
ratio was Rs. 25% on sales. Average account payable are Rs. 80,000. 
Creditors Turnover Ratio =? 
(a) 13.25 (b) 14.33 (c) 13.33 (d) 14.44 

46. A,B and C are partners in business sharing profits in the ratio of 2 : 2 : 
1. C died on 31-12-2006. The profits for the financial year 05- 06 (April 
– March) is Rs. 64,000. The share of the deceased partner in the 
profits for the year will be rupees 
(a) 12,800 (b) 9,600 (c) 6,400  (d) 3,200 

47. Which of the following can be categorized as cash equivalents as per 
AS-3? 
(a) Treasury bill (b) Commercial paper 
(c) Money market funds (d) All of the above 

48. A cash flow statement is like an income statement ………………. 
(a) I agree  (b) I disagree 
(c) I cannot say (d) This statement is ambiguous 

49. For an investment to qualify as a cash equivalent, it must be readily 
convertible to a known amount of  
(a) Gold (b) Cash (c) Investment  (d) Real estate 

50. Non-cash transactions………………… statement 
(a) Form part of cash flow  (b) Do not form part of cash flow  
(c) May or may not form part of cash flow  
(d) I cannot say whether they are part of cash flow  

37. fuEu esadkSulh lEiÙkh vEy ij[k vuqikr ds fy, Rofjr pkyw lEiÙkh ugh gSaA 

¼v½ vYidkfyu izkI; fcy ¼c½ udn ¼l½ Lda/k  

¼n½ nsunkj de lafnX/k _.kks ds fy, izko/kku 

38. fuEu esa ls dkSuls nkf;Ro vEy ij[k vuqikr ds fy, 'kkfey fd;s tkrs gSaA 

1- O;kikj ysunkj 2- cSad vksojMªk¶V 

3- ns; fcy  4- 'kks/kfu; _.k i=  

¼v½ 1,2,3,and 4  ¼c½ 1 and 3  
¼l½ 1,2,3 and 4 ¼n½ 1,3,and 4 

39. fuEu dks feykbZ;s %& 

¼1½ rjyrk dh ijh{kk ¼v½ R.O.I. (fofu;ksx ij izR;k;) 
¼2½ ykHk dk ijh{k.k ¼c½ nsunkj vkorZ 

¼3½ 'kks/ku {kerk ijh{kk dk ijh{k.k  ¼l½ vEy ij[k vuqikr 

¼4½ xfrfof/k@fØ;k’khyrk dk ijh{k.k ¼n½ _.k lerk vuqikr  

      (1) (2) (3) (4) 
¼v½ (A) (D) (B) (D) 
¼c½ (D) (A) (C) (B) 
¼l½ (B) (C) (A) (D) 
¼n½ (C) (A) (D) (B) 

40. Lkk>snkjh QeZ esa lk>snkjksa dk nkf;Ro gksrk gSA 

¼v½ iwath vuqikr esa ¼c½ lcdk lhfer nkf;Ro 

¼l½ lcdk vlhfer nkf;Ro ¼n½ ykHk foHkktu vuqikr esa 

41. buesa ls vuqikrksa dk dkSu lk leqg QeZ dh vYidkyhu nkf;Roksa dks Hkqxrku 

djus dh {kerk ekirk gS%& 

¼v½ rjyrk vuqikr  ¼c½ _.k vuqikr 

¼l½ O;kfIr vuqikr ¼n½ ykHknk;drk vuqikr 

42. ^v* fyfeVsM ds fofÙk; fooj.k ls fuEu tkudkfj;k¡ miyC/k djkbZ tk jgh 

gS%&izkjfEHkd LdU/k 1]75]000 :-] dqy Ø; 10]75]000 :- ftlesa udn Ø; 

1]75]000 :- 'kkfey gS] dqy foØ; 15]00]000 :- gS ftlesa ls 20 izfr’kr 

udn vk/kkj ij gSA vafre LdU/k 1]50]000 :- gSA LdU/k vkorZ vuqikr gksxk  

¼v½ 7-67 ¼c½ 6-77 ¼l½ 7-76 ¼n½ 7-66 

43. ^v* fyfeVsM ds fofÙk; fooj.k ls fuEu tkudkfj;k¡ miyC/k djkbZ tk jgh 

gS%&Lkerk 5]67]500 :-] lap; ,oa vf/k'ks"k 3]87]850 :-] dqy _.k 5]88]778 

:- ftlesa ls 2]88]778 :- nh?kZdkfyu _.k gS] LFkkbZ lEifÙk 11]44]128 :- gSA 

pkyw vuqikr gksxk & 

¼v½ 2-48 ¼c½ 1-92 ¼l½ 3-68 ¼n½ 1-33 

44. ‘Z’ fyfeVsM dh pkyw lEifÙk;k¡ 3]70]000 :- gS ftlesa LdU/k 1]00]000 :- o 

izhisM O;; 70]000 :- 'kkfey gSA dEiuh ds pkyw nkf;Ro 1]60]000:- gS 

ftlesa dj dk izko/kku 60]000 :- 'kkfey gSA rjyrk vuqikr gksxk& 

(a) 1.25 ¼c½ 1.52 ¼l½ 1.22   ¼n½ 0.95 
45. ds- Vh- fyfeVsM dk izkjfEHkd LdU/k 2]50]000 :- gS o vafre LdU/k 3]75]000 

:- gSA o"kZ ds nkSjku 13]00]000 :- dk foØ; gqvk gS o ldy ykHk vuqikr 

foØ; dk 25 izfr’kr gSA vkSlr ns; [kkrs 80]000:- gSA ysunkj vkorZ vuqikr 

gksxk & 

¼v½ 13.25 ¼c½ 14.33 ¼l½ 13.33 ¼n½ 14.44 
46. ys[kkadu ekud rhu ds vuqlkj] fuEu esa ls fdldks udn ds leku ekuk 

tk,xk & 

¼v½ dks"k fcy@Vªstjh fcy ¼c½ okf.kfT;d isij 

¼l½ eqnzk cktkj Q.M ¼n½ mijksDr lHkh 

47. v] c o l O;kikj es 2 % 2 % 1 ds vuqikr es lk>snkj gS A l & 

31&12&2006 dks ej x;k gS A fofRr; o"kZ 05&06 (vizsy & ekpZ)ds fy, 

ykHk gS 64]000 : bl o"kZ ds fy, e`r lk>snkj dk ykHkks es fgLlk gksxk A  

¼v½ 12]800 :   ¼c½ 9]600 :  ¼l½  6]400 :  ¼n½ 3]200 : 

48. udn izokg fooj.k] vk; fooj.k ds leku gS ----------------------- 

¼v½ eSa lger gq¡  ¼c½ eSa lger ugha gq¡ 

¼l½ eSa dg ugha ldrk  ¼n½;g fooj.k vLi"V gS 

49. fdlh fofu;ksx ds fy;s udn leku ds :i esa ;ksX; dgykus ds fy;s] fuEu 

dh Kkr jkf’k esa vklkuh ls ifjorZuh; gksuk pkfg, & 

¼v½ lksuk ¼c½ udn ¼l½ fofu;ksx ¼n½ vpy lEifÙk 

50. xSj udn O;ogkj ------------------------------- 

¼v½ udn izokg fooj.k dk Hkkx gksrs gS 

¼c½ udn izokg fooj.k dk Hkkx ugha gksrs gS 

¼l½ udn izokg fooj.k dk Hkkx gks Hkh ldrs gS vkSj ugha Hkh gks ldrs gSA  

¼n½ eSa dg ugha ldrk dh ;g udn izokg fooj.k dk Hkkx gksrs gS ;k ughaA 


